?ﬁ‘i‘_flmﬁ_-'  EOC reviow

The floor in Lita’s bedroom is 30 square yards. Calculate the area in square feet.
A 540 square feet 0 90square feet
B) 270 square feer D) 10 square feet
hhh'—-'——_
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A student scored an 88,92, and 76 on three math tests, What does the student need to get on the fourth test to have an average
of 85 for all four tests?
lames wants to use algebra to solve this problem. Which equation should he use?
256 §5+x
dr= =256
% 85 @ =3
B) 256+ x oo D) 256, 8«
3 4
3 Sdffﬂﬂﬁah is 24 years older than Ryen, while Sebastian is 5 times as old as Ryan. If Savannah and Sebastian are twins, which
£quation may be used to determine the age of all three people?
A Bx=24 0 24%5x=x
B) 24+ 2x=5x D)  24+x=5x
4 A school club is raising money for a trip, and needs to reach $10,000. Their fundraising progress is modeled by the function
f{x) = 435 + 1200x where x is mezsured in weeks.
What is the meaning of the coefficient 1200?
&) Itis the amount they started with. Q  histhe amount which is left over,
B)  Iltis the amount still to be raised. D)  lhisthe amount they raise each week.
5 In the expression 2x+ 3. the 2isa
A)  coeffident O  product
BY facror D} term
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T expression best represents the difference between tiple 8 ”"S’b‘; 5
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A} 3x.2x
BY  2x-3x D o-x

The rectangle shown has width x feet, and its length is five feet longer than its width.

The expression which torrectly shows the ares of the rectangle is
A 2xes Qx5
B)  4x+10 D) x'+10x

A golf driving range charges a flat fee of $20 10 practice and then $5.75 for a bucket of balls. Write an equation that models the
charges (Q) in terms of the number of bucket of balls (8 that you use_

A C=5756+20 0  5=575¢+20
B)  C=205+575 D) £=200+575

- » L]
w [=] wr
T T

-
(=]
T

o w
. T
\

Height (inches)

Lengtn (feet)
Find the rate of change for the rampiepresented in the graph,

n 2 ' 0

Giled o)

B 3 D)
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Which function corresponds with the table?
0 f=-2x+2:

A fl)=xe2
B)  f{x)=2x-2 D) fd=-2x-1
2
bx+3y=9
2x+3y=1
Solve the system of equations.
I -
A} x=2y=-1 | Q x—--z-.y-S
czya.l
B) x=-ly=2 D) x=3¥ 3
3 If the domain is [0. 2. -6), what is the range of y = -2x + 37
A {0.7.29) . Q {3-1,-9
B {0.7.15} D) [3.-1.15)
4
5.57.9-.
Generalize the pattern by finding the th term.
A} In g In+1
B n-2 D) 4n-1
5 s
2x-2y=6
3x+2y=9
Solve the system of equations.
A) X‘O.Y=3 0 x:l'y=.2
By x=3y=0 D) x=-ly=1
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What is the equation of the line graphed?
A y=3x 0 y=-3x-2
1
B) y=3Ix.2 D) y'=-3-x-2
nia,
111
2{5
319
4113
5§17

Look 2t the sequence in the table. Which rearsive formula represents the sequence shown?

Al 2.=a.q+4 O 2.=28,4+3
B) a.=da,,+1 D) 2.=22.4-1
Which graph models the equation 2x+ 3= 67
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Y¢hich function is graphed here?
AN y=2"-1
B} y- 2“‘3

C) yg. 2t+ 1

D)

y: 2'—" L
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Determine the domain of the graphed exponential function.
A ) 0 =5
| B (=5 D) (5.7
J ;
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